



Fact Sheet #54 – The Health Care Industry and Calculating Overtime Pay



The Fair Labor Standards Act (FLSA) requires covered employers to pay employees at least the federal minimum wage of \$5.15 per hour for all hours worked and overtime pay for hours worked over 40 in a workweek. The FLSA is administered by the Wage and Hour Division of the U.S. Department of Labor.

Hospitals and other institutions "primarily engaged in the care of the sick, the aged, or the mentally ill" are covered employers under Section 3(s)(1)(B) of the FLSA. Thus, hospitals, residential care establishments, skilled nursing facilities, nursing facilities, assisted living facilities, residential care facilities and intermediate care facilities for mental retardation and developmentally disabled must comply with the minimum wage, overtime and youth employment requirements of the FLSA.

Summary

This fact sheet provides guidance regarding common FLSA violations found by the Wage and Hour Division during investigations in the health care industry relating to the calculation of overtime pay. Nonexempt employees must be paid at least time-and-one-half their "regular rate" of pay for all hours worked over 40 in a workweek. The "regular rate" includes an employee's hourly rate *plus* the value of some other types of compensation such as bonuses and shift differentials. The only remuneration excluded from the regular rate under the FLSA are certain specified types of payments like discretionary bonuses, gifts, contributions to certain welfare plans, payments made to certain profit-sharing and savings plans, and pay for foregoing holidays and vacations. A common error in calculating overtime pay by health care employers involve the failure to include bonuses, shift differentials and other types of compensation in the regular rate of pay. Errors are also common in the health care industry in calculating the regular rate when an employee works two or more different jobs in a single workweek.

The Eight and Eighty (8 and 80) Overtime System

Under section 7(j) of the FLSA, hospitals and residential care establishments may utilize a fixed work period of fourteen consecutive days in lieu of the 40 hour workweek for the purpose of computing overtime. To use this exception, an employer must have a prior agreement or understanding with affected employees before the work is performed. This eight and eighty (8 and 80) exception allows employers to pay time and one-half the regular rate for all hours worked over eight in any workday and eighty hours in the fourteen-day period. See Regulations 29 CFR 778.601.

An employer can use both the standard 40 hour overtime system and the 8 and 80 overtime system for different employees in the same workplace, but they cannot use both for a single individual employee.

An employer's work period under the 8 and 80 overtime system must be a fixed and regularly recurring 14-day period. It may be changed if the change is designated to be permanent and not to evade the overtime requirements. If an employer changes the pay period permanently, it must calculate wages on both the old pay period and the new pay period and pay the amount that is more advantageous to each employee in the pay period when the change was made.

Premium pay for daily overtime under the 8 and 80 system may be credited towards the overtime compensation due for hours worked in excess of 80 for that period.

<u>www.wagehour.dol.gov</u> Toll-Free: 1-866-4US-WAGE (1-866-487-9243)

Bonuses

For purposes of calculating overtime pay, section 7(e) of the FLSA provides that non-discretionary bonuses must be included in the regular rate of pay. Non-discretionary bonuses include those that are announced to employees to encourage them to work more steadily, rapidly or efficiently, and bonuses designed to encourage employees to remain with a facility. Few bonuses are discretionary under the FLSA, allowing exclusion from the regular rate. See Regulations 29 CFR 778.200 and 778.208.

Referral bonuses paid for recruitment of new employees are not included in the regular rate of pay *if all* of the following conditions are met: (1) participation is strictly voluntary; (2) recruitment efforts do not involve significant time; and (3) the activity is limited to after-hours solicitation done only among friends, relatives, neighbors and acquaintances as part of the employees' social affairs.

Example: Attendance Bonus

An intermediate care facility for the disabled pays its employees on a bi-weekly basis. If employees work all the hours that they are scheduled to work in a pay period, they are given a \$100 bonus. If an employee works overtime, must this bonus be included in their regular rate of pay for overtime purposes?

Yes. In computing an employee's regular rate under the 40 hour overtime system, the employer must add half of the bi-weekly bonus (\$50) to the employee's earnings (hourly rate times the total hours worked) for that week. The resulting total compensation would be divided by the total hours the employee worked during that week to determine the regular rate.

Overtime Computation under the 40 Hours System

An employee paid biweekly at a rate of \$12 per hour plus a \$100 attendance bonus, working a schedule of 56 hours per week as shown in the chart below, would be due overtime pay as follows:

WEEK ONE

	Sunday	Monday	Tuesday	Weds.	Thursday	Friday	Saturday
Day		8	8			8(OT)	
Evening	8			8		8(OT)	
Night				8			

WEEK TWO

	Sunday	Monday	Tuesday	Weus.	Thursday	Friday	Saturday
Day		8	8			8(OT)	
Evening	8			8			
Night				8			8(OT)

\$100 (bi-weekly attendance bonus) $\div 2 =$

56 hours worked x \$12/hour + \$50 (weekly bonus equivalent) =

\$722 (total ST compensation) ÷ 56 hours worked =

\$12.89 (regular rate) x 1/2 =

\$12.89 (regular rate) + \$6.45 (half-time premium) =

40 (straight time hours) x \$12.89 (regular rate) = 16 (overtime hours) x \$19.34 (overtime rate) =

Total earnings for week one Total earnings for week two

Total earnings for bi-weekly period

\$50 (weekly bonus equivalent)

\$722 (total ST compensation)

\$12.89 (regular rate)

\$6.45 (half-time premium)

\$19.34 (overtime rate)

\$515.60 (straight time earnings) \$309.44 (overtime earnings)

\$825.04

\$825.04

\$1,650.08

Overtime Computation under the 8 and 80 System

If the same employee, paid at \$12 an hour with a \$100 attendance bonus, worked the same scheduled time for the bi-weekly period, under the 8 and 80 system, the employee would have worked 8 hours of overtime on Wednesday and 8 hours of overtime on Friday during the first week and 8 hours of overtime on Wednesday and 8 hours of overtime on Saturday during the second week, and would be due overtime pay as follows:

(bi-weekly attendance bonus) =	\$100
112 hours worked x \$12/hour + \$100 (attendance bonus) =	\$1,444 (total ST compensation)
\$1,444 (total ST compensation) ÷ 112 hours =	\$12.89 (regular rate)
\$12.89 (regular rate) $\times \frac{1}{2} =$	\$ 6.45 (half-time premium)
\$12.89 (regular rate) + \$6.45 (half-time premium) =	\$19.34 (overtime rate)
\$12.89 (regular rate) x 80 (straight time hours) =	\$1,031.20 (straight time earnings)
\$19.34 (overtime rate) x 32 (overtime hours worked) =	\$ 618.88 (overtime earnings)
Total earnings for the bi-weekly period =	\$1,650.08

Example: Retention Bonus

In an effort to attract more nursing personnel, a skilled nursing facility's nursing department gives hourly paid LPNs and RNs a \$2,000 bonus after being employed six months. Does this bonus have to be included in the regular rate? If so, how does it need to be calculated?

Yes. The retention bonus must be included in the regular rate calculation in overtime weeks covered by the bonus period. The retention bonus described above was earned over six months or 26 weeks. The weekly equivalent is \$76.92 ($$2,000 \div 26$ weeks). If an employee works overtime during the 26 week period, the increase in the regular rate is calculated by dividing \$76.92 by the total hours worked during the overtime week.

Overtime Computation under the 40 Hours System

In the following calculation, the \$2,000 retention bonus was earned over six months or 26 weeks, for a weekly equivalent of \$76.92 ($$2000 \div 26$ weeks). If the employee worked ten hours of overtime in their 9^{th} week of employment, the employee would be due an additional \$7.70 in overtime earning as follows:

\$76.92 ÷ 50 hours =	\$1.54 (increase in the regular rate)
\$1.54 x ½ =	\$.77 (increase in the additional half-time premium)
\$.77 x 10 hours of overtime worked =	\$7.70 (increase in overtime earnings due to the bonus)

Overtime Computation under the 8 and 80 System

If an employee paid under the 8 and 80 system of overtime receives the same \$2,000 retention bonus after six months, the employee would be due an additional \$13.77 in overtime earnings after working 95 hours, 17 of which are overtime hours, in a 14-day period as follows:

\$76.92 x 2 weeks =	\$153.84 (additional straight-time compensation)
\$153.84 ÷ 95 hours worked =	\$1.62 (increase in regular rate)
$1.62 \times \frac{1}{2} =$	\$.81 (increase in the additional half-time premium)
\$.81 x 17 hours of overtime worked =	\$13.77 (increase in overtime earnings due to the bonus)

Example: Supplementary Shift Bonus

At a residential care facility, if employees fill in for another employee who calls in sick, they are paid a supplementary shift bonus of \$75. Does this bonus have to be included in the regular rate for overtime purposes?

Yes, it must be included in the regular rate. If an employee works 85 hours in a 14-day pay period (including five overtime hours), a \$75 bonus would increase the regular rate by \$.88 an hour as follows:

 $$75 \div 85 \text{ hours worked} = $.88 \text{ (increase in regular rate)}$

 $\$.88 \times \frac{1}{2} =$ \$.44 (increase in the additional half-time premium) $\$.44 \times 5$ hours of overtime worked = \$2.20 (increase in overtime earnings due to the bonus)

Shift Differentials

Employers also must include shift differential pay when determining an employee's regular rate of pay. See Regulations 29 CFR 778.207(b). The following examples provide guidance on how to calculate overtime for employees who receive shift differential pay.

Example: Single Shift Differential

A personal care assistant at an assisted living facility is paid \$8 an hour and overtime on the basis of the 40 hour workweek system. She works three eight-hour day shifts at \$8 an hour and three eight-hour evening shifts. The assistant is paid \$1 shift differential for each hour worked on the evening shift. How much should she be paid for her eight hours of overtime?

The additional half-time must be computed based on the regular rate of pay. The regular rate is defined as the total remuneration divided by the total hours worked. The assistant earned a total of \$408 for the 48 hours that she worked (\$8 an hour times 24 hours plus \$9 an hour times 24 hours). Her regular rate equaled \$8.50 and her half-time premium is \$4.25. Her total earnings for the 8 hours of overtime are \$102.

Straight-time computation

3 days x 8 hours/day x \$8/hour	\$192
3 evenings x 8 hours/evening x \$8/hour	\$192
3 evenings x 8 hours/evening x \$1/hour (shift differential)	\$ 24
Total ST earnings	\$408

Regular rate and half-time premium computation

\$408 (total ST compensation) ÷ 48 (total hours worked) =	\$ 8.50 (regular rate)
\$ 8.50 (regular rate) x ½ =	\$ 4.25 (half-time premium)
\$ 8.50 (regular rate) + \$ 4.25 (half-time premium) =	\$12.75 (overtime rate)

Total compensation calculation

Total earnings	\$442
8 overtime hours x \$12.75 (overtime rate) =	\$102 (overtime earnings)
40 hours x \$ 8.50 (regular rate) =	\$340 (straight time earnings)

Example: Two Different Shift Differentials

Registered nurses (RNs) at a skilled nursing facility are paid a basic hourly rate of \$22 an hour. When they work the evening shift, they are paid a shift differential of \$1 an hour. When they work the night shift they are paid a shift differential of \$2 an hour. When working overtime, RNs are paid time-and-one-half of their basic hourly rate of \$22. Is this in compliance with the FLSA overtime standard?

No. Under the FLSA, the additional half-time compensation must be paid on the regular rate which is defined as the total remuneration divided by the total hours worked. Overtime compensation must be calculated on the regular rate, which will exceed the hourly rate when shift differentials are paid.

Computation of total compensation for 40 hour system

WEEK ONE:

	Sunday	Monday	Tuesday	Weds.	Thursday	Friday	Saturday
Day		8 at \$22				8 at \$22	
Evening				8 at \$23		8 at \$23	
Night	8 at \$24			8 at \$24			

16 day hours x \$22 = 16 evening hours x \$22 = 16 evening hours x \$1shift differential = 16 night hours x \$22 = 16 night hours x \$2 shift differential = \$352 + \$352 + \$16 + \$352 + \$32 = 16 day hours + 16 evening hours + 16 night hours = \$1,104 (total ST compensation) \div 48 (hours worked) = \$23 \div ½	\$352 \$352 \$ 16 \$352 \$ 32 \$1,104 total ST compensation) 48 total hours worked \$23 (regular rate) \$11.50 (half-time premium)
\$23 + \$11.50 = \$23 x 40 hours =	\$34.50 (overtime rate) \$920 (straight time earnings)
\$34.50 (overtime rate) x 8 overtime hours = Total weekly earnings	\$276 (overtime earnings) \$1,196

WEEK TWO:

	Sunday	Monday	Tuesday	Weds.	Thursday	Friday	Saturday
Day		8 at \$22	8 at \$22				
Evening	8 at \$23			8 at \$23			
Night				8 at \$24			

16 day hours x \$22 =	\$352
16 evening hours x \$22	\$352
16 evening hours x \$1 shift differential =	\$ 16
8 night hours x \$22 =	\$176
8 night hours x \$2 shift differential =	\$ 16
\$352 + \$352 + \$16 + \$176 + \$16 =	\$ 912 (total ST compensation)
Total weekly earnings	\$ 912
total earnings for week one	\$1,196
total earnings for week two	\$ 912
Total earnings for the bi-weekly period	\$2,108

Computation of total compensation for 8 and 80 overtime system

WEEK ONE:

	Sunday	Monday	Tuesda y	Weds.	Thursday	Friday	Saturday
Day		8 at \$22				8 at \$22	
Evening				8 at \$23		8 at \$23 (OT)	
Night	8 at \$24			8 at \$24 (OT)			

WEEK TWO:

	Sunday	Monday	Tuesday	Weds.	Thursday	Friday	Saturday
Day		8 at \$22	8 at \$22				
Evening	8 at \$23			8 at \$23			
Night				8 at \$24 (OT)			

4 days x 8 hours/day x \$22/hour = 4 evenings x 8 hours/evening x \$22/hour =	\$704 \$704
4 evenings x 8 hours/evening x \$1 shift differential 3 nights x 8 hours/night x \$22/hour =	\$528
3 nights x 8 hours/night x \$2 shift differential = \$704 + \$704 + \$32 + \$528 + \$48 =	\$ 48 \$2,016 (total ST compensation)
32 day hours + 32 evening hours + 24 night hours \$2,016 (total ST compensation) ÷ 88 (total hours v	vorked) = \$22.91 (regular rate)
\$22.91 x ½ = \$22.91 + \$11.46 =	\$11.46 (half-time premium) \$34.37 (overtime rate)
64 hours non-overtime hours x \$22.91 (regular rat 24 overtime hours x \$34.37 (overtime rate) = Total earnings for the bi-weekly period	e) = \$1,466.24 (straight time earnings) \$ 824.88 (overtime earnings) \$2,291.12

The RNs working the above schedule worked eight hours of overtime on three days: Wednesday and Friday of the first week and Wednesday of the second week. On these three days, the RNs worked 16 hours each day. Under the 8 and 80 overtime system, they are entitled to overtime for each hour worked over 8 in a day.

Two Different Jobs

If an employee works at two or more different jobs in a single workweek, for which different non-overtime rates of pay have been established, his or her employer may use a weighted average to compute the employee's regular rate. However, an employee who performs two or more different kinds of work, for which different straight time hourly rates are established, may agree with his or her employer in advance of the performance of the work that he or she will be paid during overtime hours at a rate not less than one and one-half time the hourly rate established for the type of work he or she is performing during the overtime hours. See Regulations 29 CFR 778.419.

Example: Two Different Jobs

An employee works as a nurses' aide on a full time basis at \$11 an hour. On weekends, the employee fills in as a receptionist and is paid \$7 an hour. She is paid on a 40-hour workweek overtime basis. How is her overtime computed?

Overtime may be computed on the regular rate of pay, determined by the weighted average of the two rates. For example, if the employee worked 40 hours at \$11 and 16 hours at \$7, the following is the regular rate calculation:

40 hours x \$11/hour + 16 hours x \$7/hour = \$552 (total ST compensation) \$552 (total straight time compensation) \div 56 hours worked = \$9.86 (regular rate) x ½ = \$4.93 (additional half time premium) \$9.86 (regular rate) + \$4.93 = \$14.79 (overtime rate) x 40 hours = \$394.40 (total straight time earnings) \$14.79 (overtime rate) x 16 (overtime hours) \$236.64 (total overtime earnings) \$631.04

Additional Information

There is no limitation in the FLSA on the number of hours employees over the age of 15 may work in any workweek. The FLSA does not require overtime pay for hours in excess of eight hours worked in a day, except as discussed below, or for hours worked on Saturdays, Sundays, or holidays.

For more information regarding the Fair Labor Standards Act, visit the Wage and Hour Division web site at www.wagehour.dol.gov or call our toll-free help line, available 8 a.m. to 5 p.m. in your time zone, at 1-866-4US-WAGE (1-866-487-9243). The FLSA statute appears at 29 U.S.C. § 201 et seq. The federal regulations regarding hours worked appear in 29 C.F.R. Part 785.

When the state laws differ from the federal FLSA an employer must comply with the higher standard. Links to your state labor department can be found at www.dol.gov/esa/contacts/state_of.htm

The Department of Labor provides this information to enhance public access to information on its programs. This publication is for general information and is not to be considered in the same light as official statements of position contained in the regulations.

<u>www.wagehour.dol.gov</u> Toll-Free: 1-866-4US-WAGE (1-866-487-9243)

Terminology

Total Straight Time (ST) Compensation:

All remuneration for employment (including shift differentials and bonuses) except those payments specifically excluded by statute. The most common statutory exclusions in the long term care industry are vacation, holiday, and sick pay.

Total Hours Worked:

All hours actually worked by an employee, excluding hours paid for vacation, holiday or sick leave.

Regular Rate (RR):

Total remuneration for employment ÷ by total hours worked. See Regulations 29 CFR 778.109.

Half-Time Premium:

Regular rate x ½.

Overtime (OT) Rate:

Regular rate + the half-time premium. See Regulations 29 CFR 778.107.

Overtime (OT) Hours:

Under the 40-hour workweek overtime plan: All hours worked over 40 in a workweek Under the 8 and 80 overtime system: All hours worked over eight in a day and 80 in a 14-day work period. See Regulations 29 CFR 778.101 and 778.601.

Total Overtime (OT) Premium Pay:

OT rate x OT hours. See Regulations 29 CFR 778.107.

Straight Time (ST) earnings:

ST hours x regular rate.

Overtime (OT) Earnings:

OT hours x OT rate.

Total Earnings:

ST earnings + OT earnings.

See Regulations 29 CFR 778.200 or call 1-866-4US-WAGE and request a copy of Regulation Part 778 Interpretative Bulletin on Overtime Compensation.

8

Toll-Free: 1-866-4US-WAGE (1-866-487-9243)